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* 1. Reading : Knowledge :: Work : ?
* A. Experience
* B. Engagement

* C. Employment

* D. Salary
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e 2. In a certain code BOOK =1, TABLE == 2/3, DOCTOR =1/2 , then
MAD =7

*A.1/2 B. 3/4 C. 4 D.3
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e 3. If ZEBRA can be written as 2652181 , how can COBRA be written ?
e A. 3021813 B.3152181
e C. 31822151 D. 1182153
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*4.|f GO =32, SHE =49 then SOME will be equal to ?
* A.56 B. 58 C. 62 D. 64
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e 5.If E=5, HOTEL = 12 then how will the code of LAMB ?
°A.7 B. 10 C. 26 D. 28
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e 7. Anil is facing east . He then turns right and moves 150 m and then
turns left and moves again 150 m to reach tea stall . He takes some
tea and then moves towards north east to reach a vegetable shop
which is east of his starting point . If the distance between his starting
point and to the vegetable shop is 300 m, then what is the distance
between the tea stall and the vegetable shop ?

*a3)200 m b) 150 V2 m

e c) 150 m d) 300 m
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* 8. Two buses start from the opposite points of a main road , 150 kms
apart . The first bus runs for 25 kms and takes a right turn and runs
for 15 kms . It then turns left and runs for another 25 kms and takes
the direction back to reach the main road in the meantime, due to a
minor breakdown , the other bus has run only 35 kms along the main

road . what would be the distance between the two buses at this
point ?

* a) 65 kms b) 75 kms c) 80 kms d) 85 kms
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*9.. _nmmn_mmnn_mnnm_

* A. nnmm B. nmnm C. mnnm D.nmmn




) WBCS 2(

* 10. An accurate clock shows 8 o'clock in the morning. Through how
may degrees will the hour hand rotate when the clock shows 2 o'clock
in the afternoon?

* A.144°> B.150° C.168° D.180°
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*11. 1, 8, 27, 64, 125,

. 2)216 b)343 c)225 d)175
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*12. 2,9, 28, 65, 126,

. 3)217 b)513 c)337 d)730
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*13. 0,9, 26, 65,

*a)136  b)128 c)124 d)120
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e 14. A marries N and has a daughter C. Cis the granddaughter of B
who has two sons, one of whom of M. How is M related to A?"

e A. Grandson B. Either brother or brother-in-law
 C. Uncle D. Son
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* 15.In the following number series, how many such 7’s are there which
are immediately preceded by a pair of numbers whose product is
more than the product of pair of numbers immediately following 77

©22713948765428357465978643974652

. a)1 b) 4 c) 2 d) 3
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* 16.0n what dates of April, 2001 did Wednesday fall?
e A.15t, 8th 15th 22nd 29th

« B.2nd, 9th 1pth 23rd 3Qth

o C.3 T(EISF/L Uz

e D.4th, 11th 18th, 25th
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e17. 7:56::9:?

* A.63 B.81 C.90 D.9S
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e 18. If P means ‘division; T means ‘addition; M means ‘subtraction’ and
D means ‘multiplication’, then what will be the value of the
expression 12 M 12D 28P 7T 15?

*A-30 B-15 C.15 D.-21
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* 19. Present ages of Sameer and Anand are in the ratio of 5 : 4
respectively. Three years hence, the ratio of their ages will become

* 11 : 9 respectively. What is Anand's present age in years?
* A.24 B.27 C.40 D.Cannot be determined
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e 20. Which is the 11th letter to the left of the 4th letter from the right
when you write the English alphabets in backward order?

*A.P B.Q C.O D. N










